) a) 33~2><52«-b<5+g:® 0 Z7-1B+3t6 =0 M

H=-§ g -2=1S  PWS f=-g al
l”) (1—55(33@&2) M|
(2-3) (=) (sk2) Al
¢) Q-gf; 2 -52)46 ot ()DL ) M}

Loy A
[ —
AT I ( S ( Ll 2] 3] 4 Al

el T 5] T pe o
i(—[-\z'+§~+2<%—+l+%>j MU comdt st L
4.8S Al

)

INCogRE T™HE NOMRRL of Sﬂzl(’ﬁ/ TRARR UM op SVAVZIEN, Bﬁ

l
l
?

b) A= 0ol seen 02 MNP B

I — oz + 0018 _0.oeq
OF |- 20(00\)H@o(o«o\)z—%o(o\ool M|

g WQ% 5 MO 6 TiS, T



29 W
22000 %X |0

5598 A
@%SSS ol @Fﬁosss ag

l’b) 22000 C\ — \.ps3*)

([ — 6%

o Al
E Diad esg ¢

M

0%,

Q) (=, 8

; RI
1T =35 R 64436 =
6+

A3 émxm
S @

1 +Hoy +3) ~2j

. Rl
E \ 3 et
) @A@\m

. l

| = @erz} ML A
312 Ry =days
%Z 3:%146

LhL‘;/
TP TO e S MWSO W
’ Z;f;:m 4 "

Al A
D<Ot5>.



6. \Ogglz Bl
o, x\"ij Bl

=9 Al
X gyt <o Al
(Iﬂ«,)[xvg) Al
=3 nn 6 A

2 2
P = 7y $2 2x6xSrtos® M
00 = —20 0% A\

dip
(DSS = — \%« A\\%
b AT RTIVE
S
\GIT of M| C_§§2+Sﬁ% _om
[ .
Smb = = subs 42
g
(Ateter 3\\4@:%@> Al (AGPT swmb= ,%%, Ay




éiléxg W
=t Al

Q .
J:f\_gwr[g A o s umgs ML
3

@_ Ml A |

9 CU—M%%m®\Cﬂ~%H§Q

VR v Anguge 32— 2. Al

P = P 45 Bl
£2g = 3¢ B
l@: __:%2__ oy %: %%_ M&

SUB IO THE ROMHTH. X< A
AND SIMPUES T ARSIKL rum)

2= T72° o M)
2 Sb |
-T2~ o WOITH oy =© B

ATOUPTL Solion) o e Q0= 72 of PEKL M|
VB WNSWR. X= 6 4D wo o A



9 G A B2 P Aoy B

Yol oF LU o 8|
ST of Lél%l-— o0 T | SWES >O o Al
2 = 72
A) T 2% Y
=2 Al
w
0. 3( S\MG) WY = cx® 4] M|

Cex\?
3&\\/\29 — cosD+ ( M|
6NV
BS\MZE} - B v eG Ml

- ) = AP Lord N
foft v -3 L) Al

($00 —3)(cong 1) MY w5

(41—%) Q) M|

Y

G
0- % 5 %) M
\LyL |

g



